
Christmas Crackers! Quick Questions
Mother has been working extra hours for the past month 
to provide some treats this Christmas. Her rich employer 
has offered to buy us a sizeable turkey. Last year, we 
managed to poach two rabbits so each got a morsel - 
that’s the trouble with having six siblings! But this year, 
we will have leftovers. 

Father says we can spend some of mother’s earnings on 
gifts for each other but, because I am used to making 
gifts, I’m going to make my sisters each a peg doll and my 
brothers a cracker. The crackers were invented last year 
(1848) by a sweet maker in London: they are expensive, 
but I will spend my farthing to buy rhubarb and custard 
sweets to go inside!

1.	 Who invented Christmas crackers? When? 

�  

2.	 Find two adjectives which are antonyms of each 
other. 

                                                                                       

3.	 How will Christmas differ this year to previous 
years? 

�  

�  

�  

4.	 Do you think they will have any leftovers? Why? 

�  

�  

�
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Christmas Crackers! Answers
Mother has been working extra hours for the past month 
to provide some treats this Christmas. Her rich employer 
has offered to buy us a sizeable turkey. Last year, we 
managed to poach two rabbits so each got a morsel - 
that’s the trouble with having six siblings! But this year, 
we will have leftovers. 

Father says we can spend some of mother’s earnings on 
gifts for each other but, because I am used to making 
gifts, I’m going to make my sisters each a peg doll and my 
brothers a cracker. The crackers were invented last year 
(1848) by a sweet maker in London: they are expensive, 
but I will spend my farthing to buy rhubarb and custard 
sweets to go inside!

1.	 Who invented Christmas crackers? When? 
Accept: a sweet maker in London and 1848. 

2.	 Find two adjectives which are antonyms of each 
other. 
Accept: ‘sizeable’ and ‘morsel’.

3.	 How will Christmas differ this year to previous 
years? 
Accept an explanation focusing on the 
amount of food they will have (with the 
large turkey) compared to small rabbits in 
the past; bought gifts rather than home-
made ones and treats rather than none.

4.	 Do you think they will have any leftovers? Why? 
Accept any reasonable explanation that yes, 
they will because they will have a large turkey 
which they are not used to having, or no, 
they will not because they are a large family 
who will enjoy the treats over Christmas. 
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